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FINAL ANSWER KEY

Paper: 060 - Sociology Penology and Criminology

Date of Test 16-11-2024

Question1:-The twin revolutions that had a great impact on the development of social sciences in the 19th century
AlOEmIBal®e MQINESR! MOgadls: wITYEBIBeo als:omasia aele munwlme e.aejotiw oes allgjanud

A:-Russian Revolution and Chinese Revolution
Oa§@ allojaige OOl allgjaie

B:-French Revolution and Industrial Revolution
@6l aflgiaiqje aioaImIEls: allgiaia

C:-French Revolution and Russian Revolution
(@6l aflgyaiqje 0auyad allgjaiqge

D:-Industrial Revolution and Information Technology Revolution
QiaImie: allgjainfe allaie qvoseale allgiaiqje

Correct Answer:- Option-B
Question2:-The author of the book "Positive Philosophy"
"gasomidlar adleanmv@” agam ajrysoml@ec @awimoal

A:-Karl Marx
OB DO

B:-Max Webber
208" OB

C:-Auguste Compte
@RUTY EHoBad

D:-Herbert Spencer
©a0d6nidg” oTYABITLA

Correct Answer:- Option-C

Question3:-In India, which university started the first sociology department?
DA RO TVBAUBRIOUBIRIWOET ERBHOD ETVOCHUVSE Wlajod5ERMY @BE.Ey®?

A:-Bombay University
GenI0oeEN Qerleaigic]
B:-Annamalai University
@repIvesal Qeamleaidld]
C:-Culcutta University
H@HF Qemleagld]
D:-Mahatma Gandhi University
2000@200TW] Qemleaigldl
Correct Answer:- Option-C
Question4:-According to Kroeber the "twin sister" of sociology is
6@oenISl3e0 @REIIVEDIE MVIGaONBOMYOTIM@eO "eg MEnnIadl" @reny
A:-Psychology
©6MEHOS|
B:-Biology
aflaieomye
C:-Anthrapology
AREDCOSs]
D:-Ecology
aldlrudiailveomyo
Correct Answer:- Option-C
Question5:-"Man is a social animal" this is the famous words of
" DRaHyM 6@ quogadle guaoem” gy MO0 QTIIELAI® QAUOEREU.
A:-Plato
GqGQ0
B:-Aristotle
@pEleqyoslad
C:-Socretees
CaVOGSINY
D:-Wordsworth
cuIBo™
Correct Answer:- Option-B

Question6:-"Society is a web of social relationship". This definition is given by
" arugade MVOGadld: FINWEIREES B AR, gD Mldalalms @REm M@SIElesmma.

A:-Prof. Giddings
6(joan. Wlagflowymy
B:-Lapiers
anafleg
C:-Mac lver
208 OagUB
D:-Karl Marx
008 OB
Correct Answer:- Option-C

Question7:-According to Psychologist Mc. Dougall, Man has the "gregarious instinct". What this term means?

eemesogelqy MC. awvomalideo erEludanie amay "ewendlomy maqds" 9. 0 al®e g GEA@NAEBIMN®?

A:-Tendency of man to live in groups
&5000) Hallenomes amaHiMBEO QUMD
B:-Tendency of man to acquiring knowledge
@polal BMNSIMSS AMHUMOO @JAIEMD®
C:-Ability of man to acquire skills
SIIYBUB EMSOMBS AMUIMOHO @lal
D:-Ability of man for thinking
aflavllenomes amauimBeo edlal
Correct Answer:- Option-A
Question8:-The most important characteristic of social relationship is
Mgadld: ENINWATIBEOO aBQQle @IWIMBAS VIR
A:-Likeness
LIGURLe
B:-Difference
QOO
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C:-Psychic elements
20MMIld CRISEEERUD
D:-None of the above
AHEI alOFDAOWITRREY
Correct Answer:- Option-C
Question9:-The most important distinction between animal and human society is due to
QUIEBBSe MDA TVGORYo OIS B (JWIMES QUDIIMo EIOEMo
A:-Complexity
ausldeRo
B:-Simplicity
a8l
C:-Adaptation
£lO@BODOIST
D:-Culture
ﬂ’\)oﬂ'xﬂ(bo
Correct Answer:- Option-D
Question10:-Marriage is a
allaade ag)m® 6@
A:-Social Association
aVORadld TVseRISM
B:-Social Institution
MOgadld MuNdaiMoe
C:-Social Custom
aLOQaCle: @R).al0®e
D:-Social Norm
MOGadlds BOMBEMWo
Correct Answer:- Option-B
Question11:-The orderly arrangement of parts or components of society namely, human interactions which assumes a definite pattern is termed as
MUGANEDIMBOO EONETRE »0 oal = ) (G20 &H:EEM., BRIV, 8@ Mlual® aloegend @raMlER nnémna DS6ajse)eud aga allglepeaigamn.
A:-Social values
aogadle: eleEsud
B:-Social systems
aLogadle mueallwomesnud
C:-Social norms
aLOQadle: MIMBEMUWEBRUS
D:-Social Institutions
aLIgadle MuNdaIMEBRUS
Correct Answer:- Option-B
Question12:-Elements of Social actions are
aLogacles @UBODMEBROS CLISHEEBSI6T
A:-The actor
msm
B:-The end or destination
@RAITVIM. EREGYBIT LIGUMIOIMo
C:-The conditions and means
QMBS 20BWEEBS.
D:-All the above
ABHEI®W A0SV
Correct Answer:- Option-D
Question13:-The topological factors which affects the growth of village communities are
@2 MVPAOEIBEOS QSR 4O® EOUWIERM ESIGAIBHET *QISH:ERUZ AIIET
A:-The land

@2
B:-Water
OQI8S
C:-The climate
&0I0QIMo
D:-All the above
ABHEI®W OOV
Correct Answer:- Option-D
Question14:-The "We feeling" of rural communities will be
@odlem mugaosIEges "My came” Erwldle.
A:-Less stronger
RSO B0
B:-More stronger
SSO@ OB
C:-Moderate
donow
D:-None of the above
QAHEI alOFDAUOWITRREY
Correct Answer:- Option-B
Question15:-Among the following which one is an example of achieved status?
®2690j0QMAIRIE Ml aIBAlQeS ©BI0EEM. aB®IEM?
A:-Sex of a person
8@ UBDIQYeS OOLlUIle:®
B:-Age of a person
B QUBOIQS (JIWo
C:-Job of a person
8@ QeolQes esoel
D:-Kinship of a person
BT QAUBTIQOS ENIMRYIo
Correct Answer:- Option-C
Question16:-"Power is the ability to control the behavior of others, even in the absence of their consent". Who gave this definition to power?
" @rOIGeS M ladeo @pEAIODIea0a) 0QSSITBOS HaIGAIQo MHE@leomes &Flaem e, @RI ERWIB:0EMEBIM gD MIBAalMs MEBHIWM?
A:-Karl Marx
008 @By
B:-Max Weber
2083 eaENId
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C:-Robertson
€0o6nIBS V6D
D:-Emily Durkheim
agdlell awdeesie
Correct Answer:- Option-B
Question17:-The type of authority which has the right to compel obedience over the governed
BAERMAImBOS EAB @RMTVEEM. MANIMWIENIN @RAIBIWYSS @PUIEI0 ®Eo
A:-Traditional authority
AlRMIEIN® @RWIB0@0
B:-Legal-rational authority
M- Q60ilale® @RI
C:-Charismatic authority
&Almpogley @remadld
D:-All the above
QBT l0ATOAIO®EJ00
Correct Answer:- Option-D
Question18:-About Culture which statement is wrong?
MUMPOIEOODERC]a] aBOY (@JTYIQUM amgssrn"?
A:-Culture is an acquired quality
MVo(YI@o B@ EMSIW VEMAETY
B:-Culture is communicative
MUePoEe @RUeAMlaaosy
C:-Culture is individual, not social
MVo(YI@o QUBTIalEAIET, MVIGaClBHae)
D:-Culture fulfills some needs
MUePO@e allel @ROILELETERUY nﬂocmggma
Correct Answer:- Option-C
Question19:-The term "Cultural lag" was coined by
" M06PI@lE: 2106F" ag)M alBe OaIBWIUTlaI®Y
A:-W.F. Ogburn
W.F. auesnied
B:-Max Weber
208" ©QI6NIA
C:-Gillin J.L.
Uefld 62. ag)@.
D:-A.W. Green
ag). Qe Uled
Correct Answer:- Option-A
Question20:-The one who was not a proponent of Social Contract theory
GILIAUYTB CBOEMBSI MIRLOMOTIMWEO AUBMIROTODIUD
A:-Thomas Hobbes
C®IDMY BaDIENITMY
B:-Herbert Spencer
©a0d6nidg” HTYABITLA
C:-John Locke
GO GRIOES
D:-].J. Rousseau
6|, H:W. QLI
Correct Answer:- Option-B
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Question21:-The theory of society which tried to analyse the structure and function of society in comparison with those of living creatures
lQR0LIEBEESDROW] GIEDROYFOT] MIPaOODIMBEO *RISNQo JABEMA alltedeiMe a1QM Wil MGOEBIBeo Milevd.

A:-Social Contract theory
Mgadle &8 milevome
B:-Organismic theory
adunomimfles’ milenomme
C:-Group mind theory
Qo] eea@W milevomo
D:-None of the above
QBHEI AlOFDAIOWIMRREY
Correct Answer:- Option-B
Question22:-The factors that influence the socialization of an individual
8@ QUBTIQOS MIZPaOleQMEEMEOD qLIOUWITlEBaM CaISEH:@ERU3
A:-Family
B:GobNlo
B:-School
n'gua
C:-Occupation and Marriage
omoslgje allavanne
D:-All the above
ABHEI alOFAUOWEII0
Correct Answer:- Option-D
Question23:-The factors which influence the personality of an individual are
8@ QABOIQeS AETIoIOOD MuIUWIMlEsmM AISE:@RU3 saIIT
A:-Only biological factors
OOWQA WLISHEBRUY M@)o
B:-Only social factors
aLoQadle: LISEEERUB BO@o
C:-Both biological and social factors
&lQIUe0MRalE0) MIGOIBAYPOIW CLISE:ERUY
D:-Spiritual factors
@O QISH:6ERUD
Correct Answer:- Option-C
Question24:-Among the following which is not the essential feature of a social organization
0flojommaiicd 8@ muogadle: MseaIsmes @RI tallswUmWE)
A:-Unanimity among the members of society
aMUGaOODI6L! @R.NEBRUBESISWI afddElJowo
B:-Promptness in accepting status and role
ARIQMYe €0dge MullB:AlemmMairess @ie
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C:-Control of society on the activities of the individual
QetlQes eadommeasglad mugeoowiden dmloamsme
D:-Individual members should belong to upper class
QBOIN® @RUIERUY ORI AllRONOTIM BalsNIEIVIG|EEMe
Correct Answer:- Option-D
Question25:-Among the following which is not the characteristics of a rural community
©IHPOQRMAIRIB B@ YWIFEM MPAOTTIMWOO TVIRIIRGY
A:-Social Homogeneity
aLIgadld aBHD
B:-Importance of family
SGoENIODIMBOO (@JOUWIMYe
C:-Large scale division of labour and specialization
el cmaiaigs 6@oF1d allemmaje HIMVUBELIGTVUM.
D:-Dominance of primary relations
(ejoundle IMWEREeS @RUWlal®w
Correct Answer:- Option-C
Question26:-Social tolerance can be seen more in
M0gadle MaGloy® 5@l $eMom B¥lg.
A:-Urban community
MW VYo
B:-Rural community
@odllem mugane
C:-Semi urban community
@PAEL MUE AVPano
D:-None of the above
HEI@D AlOOMAIOWITRAL)
Correct Answer:- Option-A
Question27:-Regarding the social group which statement is wrong?
GV Qaflom MoITWla) aG@Y @TyocIm@oeTY omg?
A:-A social group possess a sense of we-feeling
@ ETVHUM Yaflr) FEERUS-all;:oeesOWe D6
B:-A social group have inter relations
B@ Mgadld Qafl alemyE eITWRENE’
C:-A social group have control or the action of members
@ ETLIAHU Waflay’ @RWEBRGOS TRE@eMEad JaIBOmMmEnd e
D:-A social group members have blood relations
GO ETVIHU (o] @RLITBUBLS EBOEUIMWRETE
Correct Answer:- Option-D
Question28:-"The history of all hitherto existing society is the history of the class struggle". This is the opening sentence of which book?
"oaee dleimslislam agep MganoBlteo adl@e. ABRIMAEEDIMBEO aIBI@A0N" GO o TYBOEBIMBEO (@6 QIOEATI®?
A:-Das Capital
oMY’ @y0alloed
B:-Positive Philosophy
satomdldlal adleaiomuad]
C:-Class war
oMY QLo
D:-Communist Manifesto
@m&mﬂr&{ 20W®a0emRo
Correct Answer:- Option-D
Question29:-In a family, if the marriage between blood relations are not forbidden then that family is called
B GG, EBMENIMWEIRUY @aenla)es allanao. dlellevasgElad @R d:g.eneom alglesme
A:-Patriarchal family
J@BaHIWlal@®y BGobNlo
B:-Punaluant family
aMEJQINBA BGobNlo
C:-Monogamous family
ARBERICIDIPSBS H:GobNlo
D:-Consaguine family
REMENIMNLAYSS andailel
Correct Answer:- Option-D
Question30:-A family in which one man marries many women and lives in a family with his wife and children
B@ o @M @EMo Mleeg allanade &¢ElER®Q @IEIEWIZ. AkhESIFORIe GG &SENIODIE HaleBeQ HAY 6T B:GotNls
A:-Monogamous family
ARHEICDIYSS HFobNlo
B:-Polygamous family
6NIEORIOYDIYBS H:FobNlo
C:-Polyandrous family
6NIEDE@lalBY H:GosNlo
D:-None of the above
QAHEI alOFDAUOWITRREY
Correct Answer:- Option-B
Question31:-Societies sanction for mating is known as
DEME2IEIMRES o«uoaarr\)gﬂa,gas @RWAW] @RAIQEFIME
A:-Prostitution
CQILBYQYDTI
B:-Marriage
aflaoane
C:-Reproduction
aD@B@BalOBMo
D:-None of the above
AHE alOFDAUOWITBREY
Correct Answer:- Option-B
Question32:-Among the following which one is not the characteristics of socialism?
cLoaallLETIMBOO MAIEUBUOBBHOTDD @IOLOQRMAIRIE aB®oEM?
A:-State ownership
MVe(MOIM OSAMLOD
B:-Equality of opportunity
@AM VAo
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C:-Promotion of private industries
MUIBIEY QUAITLIWEBBOS GJOTTVIGla]lERe:
D:-Maximum distribution of National Income
€BUWlQ AGRIMOTIME0 aleadaiul]l almeeme
Correct Answer:- Option-C
Question33:-Marriage may be classified in the institution known as
allanaoeom AMAl@OYFAD TLAAINOTITE G EGIElE0
A:-Social institution
aLogadle undaime
B:-Political institution
@@ uadalMo
C:-Cultural institution
MVIMYI@S: TLNdAIMe
D:-Economical institution
LIMNIOBIS TVOIalMo
Correct Answer:- Option-A
Question34:-"An intentional act or omission in violation of criminal law committed without defense or justification and sanctioned by the laws as
felony or misdemeanor" This definition to crime is given by
" @olleeowend MmP©le:eemeas @soe® @M@ M. eleallesa amindan® Yo @regElad BN, G:QHMIER) EMER @RV MWAGBBI® @RWAIEEeIS®IET"
QRO 0D WldalalMe Ma@BsQI@leBmM@
A:-Sutherland
aumAeoBouy’
B:-HLA Hart
) alng)@Bag) a00dg
C:-Paul W Tappan
Galoud el Sajad
D:-Durkheim
Wdee6l
Correct Answer:- Option-C
Question35:-The school of criminology which believed in the free will theory i.e., a person was free to choose between right and wrong conduct
IO g0 Milevomamiad allveimilafam @lalemoged U3, @RIV, BG Queiles wolge Q0 DEEHFENOM TLIDDPNROWIGBMD.
A:-Classical school of criminology
HoTlend ngua 80al @ldlemoged]
B:-Positive school of criminology
Gatomdidlar ayud Goad @ldlemoged
C:-Social school of criminology
GNLIAHYTD n'guﬁ 80al @lalemoged]
D:-None of the above
QBHEIW AlOFTMAUOWIMRRGY
Correct Answer:- Option-A
Question36:-Who among the following is an exponent of classical school of criminology?
Ml oQMAIRI® @REEN FIMIIEE ayud G0ad @ldlemogglges aiemoal?
A:-Lombrosso
GRIDoGENYICMD
B:-Beccaria
ONIBOIQ
C:-Enrico Ferri
af)BOleE®d Handl
D:-Garafalo
NEIANECRID
Correct Answer:- Option-B
Question37:-The name of the criminologist who propounded that physiological factors of human beings are also a contributing factor to crime
2MAHBOS VOGIEULITYAIERIW CLISH:ETRGe BHQRDYTRUIL BHIEMRIGIM CLISEH:A0OEMN (o6l @ldlemoselqylleo ead
A:-Bentham
)al(o
B:-Beccaria
NI
C:-Lombroso
GRIJoGENYICTOI
D:-Garafalo
NEIaOGRID
Correct Answer:- Option-C
Question38:-"M'Naghten Rule" is associated with
"M'Naghten Rule" ooz sumweaqsidlesm
A:-Criminality of normal person
MUIWOEEM QUBTIQES B:Q Yo
B:-Criminality of insane person
@@ Qeties @lalnad
C:-Criminality of elder person
QTIBM QUBTIQOS BQRDYo
D:-None of the above
AHEI alOFDAUOWITBRRY
Correct Answer:- Option-B
Question39:-Differential association theory of crime is propounded by
HHOIOTIMEO AUGITRNI® GRETVIMIEDHUMD MIRLOM. FEMIFAURMO
A:-Enrico Ferri
a)BOleEm0 Handl
B:-Sutherland
O eloma’
C:-Beccaria
ONIHOIQ
D:-Gabriel de Tarde
nEflewad aull sodeawn
Correct Answer:- Option-B
Question40:-"Anomie" which means normlessness is formulated by the criminologist
" @pemodl” @rmowa @ldlemosslqy @aleasomilemosm’ aomasmualgjog
A:-Beccaria
NI
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B:-Sutherland
aqrumAelodou’
C:-Durkheim
WAee6
D:-Garafalo
UNEIaNEGRID
Correct Answer:- Option-C

Question41:-"Criminology is for the community and criminologists are the unacknowledged legislators of the world". These are the words of

" @ldlemogedl quganewicssmosT, @'lm’lt:mo@gaﬂ@gﬁuﬂ 6R0&OBeI @R.UIE:ElE6a]SIDm WaMImImIEBoeT” @S QVEREEosmIoY
A:-Justice P.N. Bhagavathy
Q@I all.agad. e
B:-Justice V.R. Krishna lyer
@y’ ol erd. Goyead
C:-Justice Kripalani
@Iy’ aseom]
D:-Justice Y.V. Chandrachood
@l eear.all. al@ ey’
Correct Answer:- Option-B
Question42:-Another name of Pre-Classical School of criminology
- gomilenmd qpud B0ad @ldlemogelQes 26Qoq Gald
A:-Positive school
Gatomdidlar ayud
B:-Clinical school
Hlrlencd ayoud
C:-Demonological school
HWEROCEMISHH @D n@uﬂ
D:-Sociological school
emuosneelen@d qyud
Correct Answer:- Option-C
Question43:-According to Lombrosso the hereditary or born criminals are known as
GRINEEICTVIYSS EREIODEBI@ al0EMIEY @RERIBITE BTyl BQAIEEU8 @RAIWegM
A:-Insane Criminals
@M &QAIOE BB
B:-Atavist
@pgoallqy’
C:-Criminoids
@ldlemoloysud
D:-None of the above
AHEIB alOFDAIOWITRREY
Correct Answer:- Option-B
Question44:-The school of criminology which propounded the relation between criminality and climatic conditions
@ldlmoeldlg @:oenamog. adejes cimwe QEaNOZQa) @lalemoged] n@uﬁ
A:-Sociological school
emuoenellend ayud
B:-Cartographic school
HH0BESWIadlss n'gu%
C:-Socialistic school
evoanyailgy’ apud
D:-Clinical school
Hlrlencd aguﬁ
Correct Answer:- Option-B
Question45:-Among the following which is not a social cause for crime?
DTaloQMARIEE ©:Q0e@ioDlres Mgl $EIMAGPOMD aB@®IEN?
A:-Home
afls
B:-Neighborhood influences
@RQ @l MVIWIMo
C:-Radio, TV, Cinema etc.
coalewo, slaf, avlmlas @sesloa
D:-Poverty
B0A@IG
Correct Answer:- Option-D
Question46:-What are the economic causes of crime?
BQROYTBBOS MOOMIETDIE BIREMEBBUD )OO WIET?
A:-Unemployment
o®a¢lallapg
B:-Over population
@RWlE BNTVEY
C:-Industrialization and urbanization
QIO QDD 6MQJo NMEAUTIEDBEM Yo
D:-All the above
QHE@D AlOFODAUOWEIe
Correct Answer:- Option-D
Question47:-The word "White collar crime" is coined by whom?
"0601g e083 66" agIM QG @RI PaIEWIUTl4®?
A:-Enrico Ferri
ag)Bled Bandl
B:-Edwin H Sutherland
)3 ag)af TumAenadouy
C:-Sigmond Froid
milewolwy’ eagoeilouwy
D:-Jermy Bentham
omdad e6nimo
Correct Answer:- Option-B
Question48:-An example of a white collar crime is
66017 6588 HQHOIOTIMBEOO BT OBINEEMo
A:-Murder
6)HILIIIDdo
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B:-Theft
GQIaH6Mo

C:-Rape
BNURIDMDMoWo

D:-Bribing and corruption
o6d:Eelge erYlacig.

Correct Answer:- Option-D
Question49:-Among the following which one is not a predatory crime?
DTaj0QIMNAIRIEE OBIBBLISIEBIM @:QROVLIOODD oGDOETH?

A:-Theft
GAIaH6Mo

B:-Kidnapping
OSIOENIENZEIOB D

C:-Murder
BHILIIIDMdo

D:-Smuggling
HBRESOO

Correct Answer:- Option-D
Question50:-The meaning of the word "Euthanasia"
"aooaiw." agam AESBIMBe0 @RA™mas

A:-Suicide
@RODODY

B:-Mercy killing
BB

C:-Murder
6)HILIIIDMdo

D:-Killing after rape
ENIRIDTNVNDTIN EGUdAHo OBIIE

Correct Answer:- Option-B

http://192.168.1.6/dept/modules/marklist/answe...

Question51:-A cybercrime by which persistent messages are sent to unwilling recipients thus causing them annoyance
©9@aj@ylejoEm MLlleA3CmIBUBE MAlERI® MIEMURERLE EPWRM HHMVENIA BB GREROM GO VBLIPISTBD

A:-Hacking
ADOEBloUY
B:-Spoofing
Benigaflencd
C:-Stalking
aflawsecd
D:-Cyber Vandalism
©OaVENIA@ MUBlE:6Mo
Correct Answer:- Option-C
Question52:-Aruna Shanbaug Vs Union of India is a case connected with
@M axomBesniouy VS @ermled 6oad’ e0myQacd] snmweas 8@ eemuosmy
A:-Murder of a woman
63@3 GB’MESS 6)dH ORI dho
B:-White collar crime
0607 CHI8A 6OG-
C:-Euthanasia
BB
D:-Cyber crime
©OMVNIAB 6B
Correct Answer:- Option-C
Question53:-The main characteristics of drug addiction are
DQEBARM @RTVSTIQOS (JWIM TMVANEUBHDIBUB

A:-An over powering desire or need to take drug continuously and to obtain by any means

@534 BT BFEIM. a@O®BIR)e QlWEDI® emsompss il

Q @)oo
B:-A tendency to increase the dose
GOV QIdEUlEnomes @aem®
C:-Dependence on the effects of drug
@360 anelERes @R WD fldlasmo
D:-All the above
B AlOOMAIOWEIe
Correct Answer:- Option-D

od
o @RI

Question54:-The minimum punishment for drug trafficking under Narcotic Drugs and Psychotropic Substances Act 1985 is
1985-621 modeamogles UM @R EOIVEEIESIalS; TVEITYMBIVMY @RE (Jd:00 AWEBABI HSIDMNGIWBSS aBYQYe GOE UBlBUWOET

A:-10 years
10 oo
B:-5 years
5 aiBao
C:-2 years
NGNS
D:-20 years
20 aidaso
Correct Answer:- Option-A

Question55:-The section in Indian Penal code which prescribes punishment for intercourse with a woman by Superintendent of Jail, Remand Home

etc.

RO TR, G208 Gande FORNVAI 8@ MYV HOLWIE: MITWOTE ogdeaFMGIM Wleu alulesam pamym wWlewo Cloaowear Qiga]

A:-Sec. 375
emuaum 375
B:-Sec. 376 B
emusumd 376 i
C:-Sec. 376 C
emuaum 376 @il
D:-Sec. 376 D
emueumd 376 aul
Correct Answer:- Option-C

Question56:-Sexual intercourse between two persons within the prohibited degrees of relationship

mleeowlm snrwoslmeo adlwlessslcd eane aetileud mmiaes eealulleemimwe
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A:-Fetishism
eanglaallrue
B:-Incest
@RWANAMo
C:-Molestation
aflowmo
D:-Homo sexuality
€aNIERI 6RIUIB®
Correct Answer:- Option-B
Question57:-Continuous involvement in criminal activity is termed as
@@ QUBEMODIE @SB 4] puegEM@IN ____ agm allglenmmo
A:-Criminalism
@laflmeilrue
B:-Recidivism
@RAUBODMalE®
C:-Penalism
wlagoalwl
D:-None of the above
Q&S0 lOATHAIOQOMoRS)
Correct Answer:- Option-B
Question58:-Smuggling, Bootlegging, Gambling, Prostitution are examples of
HSVEHSOD, DB HSBENSO, 4J®Fo, CAUWYDOD ag)aTiQl ©BOANEEMEIBS0ETY
A:-Racketeering
0l
B:-Criminal syndicate
@ldnad adldaleeng
C:-Predatory crime
OHISBWSIERMM HQYHOo
D:-Political graft
@l Woag
Correct Answer:- Option-B

http://192.168.1.6/dept/modules/marklist/answe...

Question59:-Section in Indian Penal code which prescribes punishment for unnatural sex

@oolalmey eenkrleomg wWles allulesm oamyd alma esouleal Q]
A:-Sec. 375
emuaum 375
B:-Sec. 376
emueum 376
C:-Sec. 374
emvaum 374
D:-Sec. 377
emueum 377
Correct Answer:- Option-D
Question60:-Which of the following act is considering as rape?
DMaj0QINAIRIGE a@@IEN FIRIDNWAIW EBEMEILBIND?
A:-Sexual intercourse with her consent
(GTOO.I%G)S MU COMIOSQYSB £6lUIBeNIMbo

B:-Sexual intercourse with or without her consent, when she is under 18 years of age

@pades 18 aqia’ moesgaseajowd @OAIZOS M
C:-Sexual intercourse with her will
@OAIBOS DayYa0® £6RIUTlE: UTWODIGE BB g
D:-with her consent and that consent obtained without any fear of hurt
GRAISHS TVIAETTIOSQ DalGalleream llejoe® que@e AEEleT emslowgem
Correct Answer:- Option-B
Question61:-The illicit affection between drug traffickers and terrorist leads to
DQEBDBN HSADHITo rm’l@morﬂd—hgo ©aleygs @oaladl® 6ayane
A:-Smuggling
HSBEHSOD
B:-Narco-terrorism
MIBEH0-ElBEUG
C:-Cyber terrorism
©6mUENIA Eldem
D:-Political terrorism
ef Eleem
Correct Answer:- Option-B
Question62:-An example for a victimless crime
DEWIRPO® HYHOKOTIN GG LBIADEMo
A:-Rape
BNIRIDOT Voo
B:-Murder
DRI dho
C:-Theft
GQIaH6Mo
D:-Alcoholism and Drug addiction
2BYIOMO AQEB@ATINY @oSIAW.
Correct Answer:- Option-D
Question63:-Example for an organized crime
B MVeeaISI® HQHOYOTIMSE OBINEEM.
A:-Murder
)R o
B:-Rape
BNURIDMDMoWo
C:-Theft
GQIaH6Mo
D:-Terrorism
@lQIQIBe
Correct Answer:- Option-D
Question64:-The treaties signed between nations for the exchange of offenders
HQUE®S6S 0OHRQOTMIW EomERWS madicd GajQlal osmusleud

)EISEWI @BRLY!
™

) ©ORIUIIS: EIMWo
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A:-Bilateral treaties
ORWHSH DSMISIEU3
B:-Extradition treaties
6£6H209@3 OSMISIH03
C:-Economic treaties
LIMNIODIS DSMUS]H:U
D:-Non Proliferation treaties
eI 6(0LlennCOUM OSMUSIE:Ud
Correct Answer:- Option-B
Question65:-The Act which is prevalent in India to combat terrorism
OQQIBEOOD ©.21QEBM@IN DRI (@M@ Mlwne
A:-COFEPOSA
edoadleatomy
B:-POTA
Galdg
C:-KAPA
&»0ald
D:-ESMA
a0
Correct Answer:- Option-B
Question66:-The national Investigation agency was established in the year
eBUWlR @REMIAHEM @MVl MuNdalmaow Qidate
A:-2002
2002
B:-2005
2005
C:-2008
2008
D:-2014
2014
Correct Answer:- Option-C
Question67:-Faceless crime is the another name for
261a18§0OD QBB DTIMBOO QOO Eald
A:-Predatory crime
OHISBWSIERMM HQYH o
B:-White collar crime
0607 EHI8A 6OGo
C:-Organized crime
MeaISl® HQBHO0
D:-Cyber crime
OOTVENIAB OO o
Correct Answer:- Option-D
Question68:-The theory of punishment which is based on the idea of taking revenge against the wrong doer
6O 6aIQINWIEHIS @JTIIBH0 H.aIQYd: aaD ERUEWHOD EGoSIMUNdMRIEHIQESs vBlerQes milaboam.
A:-Deterrent theory
@seRan aUlRLOAm.
B:-Preventive theory
(@olleeow MIleRLIM.
C:-Reformative theory
malleesm milevomme
D:-Retributive theory
@O0 MilRLID.
Correct Answer:- Option-D
Question69:-The imprisonment of an offender in jail is based on
8@ &gl Rlaled EPSYME @RSIMNIM2IEIQEs@IeT
A:-Retributive way of punishment
WBlBHQOS @JONB:00 20BWo
B:-Preventive way of punishment
WlesQes @OIeeIW 2B
C:-Reformative way of punishment
WBOUQSS al@layeem 2odW
D:-Expiatory way of punishment
WlesQes @ouaiom a0dwe
Correct Answer:- Option-B
Question70:-The kind of punishment in which the criminals are transported to far-off places:
S&qaglees alge moaIEREIcaIEs HE:IMEAIG:M CEOTIRSS Uslou:
A:-Flogging
210501008]
B:-Banishment
MIFHSOD@S
C:-Stunning
@R Wa B
D:-Mutilation
@RoNBoWo
Correct Answer:- Option-B
Question71:-The punishment which is not prescribed by Indian Penal Code 1860
ommyd alm@ esoy 1860 mldegudlemocm wdlom
A:-Death penalty
QWUBlBs
B:-Life imprisonment
llaleymo
C:-Forfeiture of property
LI BHENZOBFTD
D:-Branding of criminals with appropriate mark on the forehead
emdlol@ pallmaow epswoIsyss a;gma@'lags)s Eomauilousy
Correct Answer:- Option-D
Question72:-Indian Penal Code prescribes death penalty for
DAy aln@d eso0) aeemudles mldesudlesmo
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A:-Theft
GQIaH6Mo
B:-Money laundering
BSBaleMo emgnjmaﬁ
C:-Waging war against the state
BEEMESTIOMTIOE QEV HalQS:
D:-Outraging the modesty of women
MYleg6es 20Mme® @jesoalaflesma’
Correct Answer:- Option-C
Question73:-In India, death penalty is executed by
I3 WSl MSsaflelossma
A:-Electric chair
DIRBS HETVE
B:-Poisoning
Qfladeniowy
C:-Firing
0@ GlouY
D:-Hanging to death
feesTcielnlTapos
Correct Answer:- Option-D
Question74:-The "rarest of the rare" doctrine is associated with
" @oyAQUEEBEITd @Al agom MilrvoMmQ@OD] snIMWeSldlesam
A:-Life imprisonment
llaleymo
B:-Fine Sentence
m%’d QId.aldho
C:-Rigorous imprisonment
&3l msal
D:-Capital punishment
QWBles
Correct Answer:- Option-D
Question75:-Who is considered as the father of probation?
alBleaiemETIBe0 almonw EREE®IET EHEMEIERMD ?
A:-Henry Loth
©anMAl O
B:-John Augustus
G0N @RUARMY
C:-William Blake
aflelyo coRyes’
D:-Beccaria
NIl
Correct Answer:- Option-B
Question76:-In India the Probation of Offenders Act was passed in the year
DI BQAUEIBEeS eeosmiaHm Mlmae alaIEI® AIdato
A:-1988
1988
B:-1958
1958
C:-1948
1948
D:-1968
1968
Correct Answer:- Option-B
Question77:-Who is considered as the father of parole?
2160081860 ol BEMEIEBOIFIMD @REIEM?
A:-Alexander Machanochie
@RRIGITRA @.4/6mMIaf
B:-John Augustus
GER06M @RUARMY
C:-Ruther Ford
QA GandBauy
D:-William Taft
aflelye sog’
Correct Answer:- Option-A
Question78:-Conditional release of an offender who has already served a portion of his sentence in a correctional institution
8@ CIROME3 MOIIMOBITE UBleURSS GG BINo LTMEr @RMEANY HQAVEIRSS ETVIAWIBIR allgm@d
A:-Probation
(@JOGETUAHUM
B:-Parole
aleEIUB
C:-Remission
Slaflaud
D:-None of the above
AHEI alOFDAUOWITPREY
Correct Answer:- Option-B
Question79:-As per Juvenile Justice (care and protection) of children Act 2000, which of the following statement is wrong?
&3)&86S BASOME BTV (0o @MW erogeum) are 2000 @®irs, Dlaomm aRoameged agmosm emg?
A:-Juvenile Justice Board is created for children in need of care and protection
al@lalEEmQje MIeESUEMNOYe ERAIRRSS &:5lBBI] BAEEM® BAIMY eenB @aledlaldlesam
B:-Juvenile court is established for children in conflict with law
20200 HOAUBRLIASS E&:SlB:WBEIV] BABOMD 6HOST MUNdalesmo
C:-No joint trial is permitted for a juvenile along with an offender who is an adult
@IWBOTID BB &HQAUEIOQIa @IWJBOTIIBITDIBER MQBD Ollalo@em @RMAIGIWag
D:-Juvenile in conflict with law shall be sentenced to death or life imprisonment
2020 HOAUMRLIASS BAUBOMT AUWUBIGHEI HQlalEY e MSEA @RYWIG|ER.
Correct Answer:- Option-D
Question80:-The first open air jail in Kerala is
CHESUTIOL! BRRIOOD BN a)@A Bwd
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A:-Open Prison, Nettukaltheri
@0m B3, 9m§ﬁ;o(ﬁ$cm@1
B:-Open Prison, Cheemeni
®0mm RQ@, afeam]
C:-Open Prison for Women, Poojappura
mledemoges @om s, 8o
D:-Open prison, Viyyur
®0mm 2R3, m’ltga's
Correct Answer:- Option-A
Question81:-Those who are not a part of Criminal Justice System
@dln@ Rqlmy’ milaqyosidec cowagemad
A:-Police
Gatoeflmy’
B:-Media
Aol
C:-Court
€B0SO
D:-Prison
2013
Correct Answer:- Option-B
Question82:-Regarding the sentencing power of court, which statement is wrong?
6H50SOIQOS UBlHU @OWIB0 MVoeNIMUWla), GO @ITRIAUM®OET omg?
A:-High court can pass any sentence including life imprisonment and death sentence
im0 AIWUBlEHRQ OUBOES oF®) UBlEUR HOEEIST allWlenomd B¥lgo
B:-Session court can pass any sentence including life imprisonment and death sentence
OMVHMBMY 6205018 elalaleymale AWUElEHUQ. 2UWBOAOS D (BlesQ. alluwleom el
C:-Asst. Session court can pass life imprisonment
@MY@ OAVUBMY ¢8sTilEs elaialeim. @sal allwlende
D:-Chief Judicial Magistrate can pass a sentence upto 7 years imprisonment
aflad BWlosy@d aedleaydlay 7 aidatto QIO @SAT UBle D@00
Correct Answer:- Option-C
Question83:-The Magistrate under the control of State government
MeMNoM MABEHIRIBeO0 Mloemosiaes asdleayg
A:-Chief Judicial Magistrate
allad’ oufleay@d asdleayg’
B:-Metropolitan Magistrate
60656a0g0m asflemyg’
C:-Sub Divisional Magistrate
avent alaflaxem@d aedleayg’
D:-First class Judicial Magistrate
anq@y’ GOy gaulauyed asdleayg
Correct Answer:- Option-C
Question84:-Among the following which one is not the function of police?
©@069aJ0QIMARIEB ag@oeN aloallnildeo adommagoom?
A:-Detection and investigation of crime
BYHOYo HEBOMEJe @OEMIHEM Yo
B:-Prevention of crime
BYHOY SV
C:-Sentencing of the accused
olQes uwleu
D:-Enforcement of law and order
(HDTVAOWIMalIRIMe
Correct Answer:- Option-C
Question85:-The case of D.K. Basu Vs State of West Bengal is a case connected with
adl.os. enimy VS equg’ 80ad ©QITY 60U alaM EBTYDIWS sNITWEISMIETY
A:-Reformation of prisoners
®SB0mes mafleeeme
B:-Custodial violence
SR GRG0
C:-Remission to prisoners
®SQB0B8 sl
D:-Welfare activities to prisoners
OSQYBHIAEBSB CHUD (JUBOOMEBRUY
Correct Answer:- Option-B
Question86:-'Alcoholic Anominous' group is a group of people who works
' @@ ®Ean0gley @oemodimmy’ Qo] M@ QAUBCTLRM EROSHEOS 630 @SR6NY
A:-For the promotion of education
allaePe eajoorvadlafesmalay
B:-For the de-addiction of alcohol
2340TIMBOO @RIVSTI LRI
C:-For the promotion of alcohol drinking
23§a10Me G0N0l flesmailay
D:-None of the above
AHEI alOFDAUOWITPREY
Correct Answer:- Option-B
Question87:-The branch of criminology which understands the personality of the offender in physical terms
SQEIQes ABTeIROD (IEIEle20w] ammflenssm wldlemogslges wae
A:-Criminal Sociology
@ldln@d emvocauyosed]
B:-Criminal Psychology
@AM OeTLeHIs
C:-Criminal Anthropology
@@ @RyeIEalsed
D:-Criminal psycho-neuro-pathology
@almna@d aamcmo—mécoo-mcmagsﬂ
Correct Answer:- Option-C
Question88:-Among the following which statement is wrong
0lojoQmMAIRITd ag® @YUM e®QOEY
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A:-For a crime physical act is required
B HQRONOTIM IGIAS (QABCMMEBRUY @RI
B:-For a crime injury or consequence is required
8@ HQHONOTM alBIEEH ERMIEANLIERI @RIUBIAIET
C:-For a crime no need of guilty mind
B HQRONOTM HQENIOWOTIBOO @RIBKAIL
D:-For a crime to happened involvement of human being is required
8@ BQHOY MEAIBIMOREIE AMUMBHO alBglome @RAILEKRIET
Correct Answer:- Option-C
Question89:-Rigging is an example of
Aoty 8@ ©BEIOEEMRETY
A:-Economic crime
MIMNITTID BQBDe
B:-Political crime
EIPO HYHO
C:-Cyber crime
OOTVNIAB 6O
D:-Sexual crime
6621UTl8 HYHO0
Correct Answer:- Option-B
Question90:-Open Prison for Women is first established by which state?
mled@®o] @om 2l @oEI] Madalycy age MVLrUNOMA0E?
A:-Rajasthan
©0LIVNIM
B:-Kerala
CHO80
C:-Punjab
aleruoent’
D:-Haryana
an@lom
Correct Answer:- Option-B
Question91:-Conjugal rights of the prisoners are first accepted by which state?
OSQYSHIWOS BIMUGPAUSBIREIBUD @R @BUIBE® aR® MVrLAdM@ET?
A:-Kerala
CHOB0
B:-Punjab
alerloent
C:-Haryana
ftelciiWhlen)
D:-Madhya Pradesh
DWYeJERUS
Correct Answer:- Option-B
Question92:-Tax evasion is a
dleol eaigla] 8w
A:-Political crime
EIFQ BP0
B:-White collar crime
06017 EHIBA 6OGo
C:-Cyber crime
©OMVNIAB 6B
D:-Organized crime
MoaISI® HQHO0
Correct Answer:- Option-B
Question93:-Data diddling is a
wogo aulaglewy GG @y’
A:-Social crime
M0gadld BHQBO0
B:-Economic crime
MLIMNIOTID BQBDo
C:-Cyber-crime
OOTVENIB-OO &0
D:-Political crime
@I HQHOYe
Correct Answer:- Option-C
Question94:-"Fetishism" is a
"oangladllnve agemay
A:-Cyber-crime
OOTVENIB-OO (&0
B:-Economic crime
TLIMNIOTID BP0
C:-Political crime
©IYPQ BP0
D:-Sexual crime
661UTE HQHOe
Correct Answer:- Option-D
Question95:-"A criminal activity is the outcome of a deceased mind. So every prisoner should be considered as patients and every prison should be
like hospitals treating these patients" These are the words of
"o @m@ @udommacey 2@15JCal0® AMQIMBEO MG, ERBIMOGI BIERD GSQYHICOMQY ERIUTBSIW BEMEBIHEM., 30600 BWlaje OV CIUIBES alalonilasmm
@ROW@IDNBHUD CalORIVIBEM." DG
A:-Lord Maccalay
DERI6Al (JB
B:-Mahatma Gandhi
2a00ERINOTUS]
C:-Martin Luther King
20@sl08 e)nd @louy
D:-Jawaharlal Nehru
2BQIOBRIB HManQ
Correct Answer:- Option-B
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Question96:-Which theory of punishment is based on morals and repentance by offender itself is a punishment?
@@ UBleso lavom06NY WIRMIBEMEOW @ESIMINIMAIEIYSBDo B:QASIQYSS AIRIODBIale MEM GG WBlBHUQ?
A:-Reformatory theory
malleesm milavomme
B:-Retributive theory
@O0 MIlRLID.
C:-Expiatory theory
a)@ealcQd] @ledl
D:-Deterrent theory
(@oleeow MIlRLIM.
Correct Answer:- Option-C
Question97:-In Gulf countries the offender could get exemption from criminal liability by making payment to the injured or his heir. This payment is
known as
OBl EoERHITE HQAVEIE AIBIEEQIUBEED @RAIMHO BRMIMEINBIEIELI alsMe M@HIO®ITE @llnad snowieelad mlm’ aal aicles.. oD GaleQmd ag)om’
@AW GMOY.
A:-Black money
B&SSBal6Mo
B:-Red money
2JQUOM aléMo
C:-Blood money
@BOaeMo
D:-Death money
QE6M aléMo
Correct Answer:- Option-C
Question98:-Which statement about solitary confinement is wrong?
@£ ®SAllomERclyss oo @JIRIAUMosT omg?
A:-Solitary confinement can exceed 3 months
BSOSl 3 20TVEBIE @Sce
B:-It cannot be awarded where imprisonment is in lieu of fine
alleQ’ aldee @sal udleu M@e:maalsy
C:-It cannot be awarded for the whole term of imprisonment
QQIB OSQYBILICOES DB M@BHOMoTe
D:-Intervals should be given in between solitary confinements
ARBIMDDSQYSUWBESISDID DSECAUBHUB M@ H:6Mo
Correct Answer:- Option-A
Question99:-The section 303 IPC which got omitted from Indian Penal Code deals with
vy wWeso Meaosicd dla adlanesie IPC 303 asa] 06@@0050 ealgmm
A:-Punishment for rape
ENIRIDONNOTIMRES UBleH
B:-Mandatory death sentence to a life convict who commit murder again
aflenge ORI E. MSIDM lalaleymo (GTles Mdsniruwle awudles
C:-Death sentence to one who commits murder along with rape
GT].IEIO(GT\)oU)G(DTD)DG)SOrHo )LD dho G)AJCQ(YT) BIDE QIWUTB™
D:-None of the above
QBEITB 0T AIOQOMoRS)
Correct Answer:- Option-B
Question100:-The Supreme Court Committee on Prison Reforms 2018 was constituted under the chairmanship of
2018-621 20l aldlosiseamenrdmones Ml eosol @l @pweHMI] @ale:dly).
A:-Justice Chandrachood
QI ai@ e’
B:-Justice Amithav Roy
2y’ @rdlmonl ¢0ow
C:-Justice K.G. Balakrishnan
QYN 6. &, enioaigeyd
D:-Justice U.U. Lalith
@y’ @.@. aiglor
Correct Answer:- Option-B
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